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June 11, 2025

Mass Distribution : 20 80000 100000
Template : /eos/home-j/jnewell/W_Mass/E_Cal_v2/run/5TeV /mc_5TeV.root
Events : 2189677
Data : /eos/home-j/jnewell/ W_Mass/E_Cal_v2/run/5TeV /data_5TeV.root
Events : 56785
Variablel : ell_etaCalo
Fit Method : 2
nUseEl : 6
nEventCut : 10
Selection : isNominal
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1 Results

ell taCalo bin « Ao o Ao
| —2.47,-2.3] 0 -0.0165592  0.0022459 0.0167976 0.00551617
| —2.3, —2] 1 -0.0191464  0.00118592  0.00656015  0.00397405
| —2,—-1.8] 2 -0.00857126 0.0014468 0.00878365  0.00397717
| — 1.8, —1.55] 3 -0.00420256 0.00121828  0.00815769  0.00379182
| —1.55,—1.37] 4 0.0119048 0.00193646  0.0150966 0.00489223
— — -U. . . c- .
| —1.37,—1.2] 5 0.0131335 0.00118823  6.06526e-05 0.00296057
| —1.2 —1] 6 0.00311206  0.00105798  0.00583233  0.00340382
| —1,-0.8] 7 -0.00802593 0.000963381 0.00392973  0.00415353
| —0.8,—0.6] 8 0.00223771  0.000865991 0.00423335  0.00267507
| —0.6,—0.4] 9 -0.00406769 0.000879767 0.00596225  0.00264657
| —0.4,-0.2] 10 -0.00624224 0.000865392 0.00508903  0.0028145
| —0.2,0] 11 -0.0102385  0.00089416  0.0061238 0.002418
10,0.2] 12 -0.00962752 0.000857417 0.000104213 0.0609727
10.2,0.4] 13 -0.0041151  0.000841115 0.00163195  0.00275962
10.4,0.6] 14 -0.00407268 0.000854801 0.00398644  0.00336253
10.6,0.8] 15 0.00481787 0.00092203  0.00695132  0.00264914
10.8,1] 16 -0.00693764 0.00097464  0.00745743  0.0030859
11,1.2] 17 0.00605395 0.0010429 0.00659568  0.00328611
11.2,1.37] 18  -0.0118852  0.00130212 0.0111516 0.0036255
11.37,1.55] 19  0.0177178 0.00195502  0.0141017 0.00510645
]1.55,1.8] 20  -0.00437716 0.00125075  0.010736 0.00397284
11.8 2] 21 -0.00877906 0.00136228  0.00810488  0.00447019
12,2.3] 22 -0.0169162  0.00118592  0.00816649  0.00341759
12.3,2.47] 23 -0.0148876  0.00236021  0.0125048 0.00695049
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2 ChiMatrix_0.0

Results

MCEvents : 8682
DataEvents : 37
ThresholdMass : 54
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3 ChiMatrix_1.0

Results

MCEvents : 47436
DataEvents : 214
ThresholdMass : 54.3732

a;; = —0.0191706 = 0.00222683
o;; = 0.0094245 + 0.00840008

T = —— —
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4 ChiMatrix_1_1

(&)

Results

MCEvents : 51522
DataEvents : 223
ThresholdMass : 54

a;; = —0.020192 4= 0.00209341
0;; = 0.00407731 £ 0.00655747

— T T
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5 ChiMatrix_ 2.0

Results
MCEvents : 34380
DataEvents : 136

ThresholdMass

: 55.5956

a;; = —0.0176533 £ 0.00253501
0;; = 0.000534522 £ 0.0104859

—
— Data; m=8.912e+04

— Template : alpha=-. SOUD
— Template : alpha=-500
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6 ChiMatrix_2_1

Results

MCEvents : 73566
DataEvents : 364
ThresholdMass : 54.4224

a;; = —0.0139078 £ 0.0018148
o;; = 0.0115771 £ 0.00536897

= T T ————
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7 ChiMatrix_2 2

Results

MCEvents : 25956
DataEvents : 115
ThresholdMass : 54

a;; = —0.0127974 £ 0.00404271
0;; = 3.07254e — 17 £ 0.0140875
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8 ChiMatrix_3_0

Results
MCEvents :
DataEvents :

ThresholdMass :

45612

185
D7.4386
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o;; = 0.0245484 £ 0.00857844
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9 ChiMatrix_3_1

(&) L L L

Results

MCEvents : 99534
DataEvents : 465
ThresholdMass : 55.5301

a;; = —0.0115483 £ 0.0016168
o;; = 0.00419524 £ 0.0056565
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10 ChiMatrix_3_2

Results

MCEvents : 68292
DataEvents : 312
ThresholdMass : 54.3421
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11 ChiMatrix_3_3

Results

MCEvents : 47388
DataEvents : 218
ThresholdMass : 54
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12 ChiMatrix 4.0

Results
MCEvents :
DataEvents :
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13 ChiMatrix 4.1

Results

MCEvents : 71082
DataEvents : 349
ThresholdMass : 57.2457
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14 ChiMatrix_4_2

Results

MCEvents : 50976
DataEvents : 250
ThresholdMass : 55.3121
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43 ChiMatrix_8_6
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60 ChiMatrix_10_9

Results
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61 ChiMatrix 1010

Results
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62 ChiMatrix_11.4
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63 ChiMatrix_11.5

Results

MCEvents : 53124
DataEvents : 248
ThresholdMass : 63.7591

a;; = —0.00830257 £ 0.0020518
0;; = 0.00297406 £ 0.00620144

— T T T
— Data; m=8.990e+04

3

—— —Template : alpha=3999_5

|||||||II%\H?H\%III%II\‘\H‘H
L
|
1
iiJT +
|
|
||||||||||||||\H‘\H|III

0.08
004
BT | A
N = s il SN T I R B R B B T ——=
- = . . . . . . . . . =
Sl E 3
< 2B T
iE 4+ N —+ ]
0 Bt 1 1 b o o —t. T ++
-E . . i . . . . L f L
80 82 B84 86 88 90 92 94 96 98
Mee
o T —T — T T T T T ——
R ogs[d
30— —
25— —
20— —
15— —
ey o v by ey 4
0 0.005 0.01 0.015 0.02 0.025 0.03

c

— Template : alpha=-200004m=

—
—Data

=,

— Template : sigma=0
— Template : sigma=300

_._EF =
+t 5=

——

+

1

=3

\I|III|III|III|H\‘\H|III|H\‘H\‘H‘

oo
)

0.01 0.015 0.02 0.025

_— i S
36 (3 EQ) 52 e 56

=]
=1

B R A R N T |




64 ChiMatrix_11_6

Results

MCEvents : 66252
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65 ChiMatrix_11.7

Results
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66 ChiMatrix_11_8

Results
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DataEvents : 340
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67 ChiMatrix_11_9

Results
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68 ChiMatrix_11_10
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69 ChiMatrix_11_11
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70 ChiMatrix_12.5

Results
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71 ChiMatrix_12_6
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Results
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72 ChiMatrix_ 127
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73 ChiMatrix_12_8
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74 ChiMatrix_

Results
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Results
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Results
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MCEvents : 66012
DataEvents : 330

ThresholdMass : 55.0299

a;; = —0.00636115 £ 0.00235114
o;; = 0.0188405 £ 0.00655135

-0.015

e T e —
= — Data; m=9.037e+04 | = — Data 3
o f— — Template : alpha=-2000¢:im=8. o — Template : sigma=0  —]
m:_ Template : alpha=9999 012:_ Template : sigma=450005
= 3 e =
oo = vos = % L =
= —— | oy —_— —_— 3
sl ; ooe EE T
= —— = = =
E +}—_&: —_— | E d
£ ST - g B -
= = - —
- — - C -
002 f— —— — — ooz f— f 4
EE - —.— =+= —
nEI..‘lle.|.H|H.|.H|.‘.|‘..|.‘|H ,.... i ar i P T S S S I ..F:
o 6 T T T T T T T T = = T T T T T =
= = o) E- =
AR - 1= sE E
= M — E = 4
2 —4— | =
N T iy o R S e T TRy e S + :E ey = =] ad ., +:t—'_+
BT ) . i . . . = . = 107 SEe L R . . R ,
80 82 84 86 88 90 92 94 96 98 100 80 82 84 86 EQ 92 a4 96 98
Mee
k" L s e e e e e B S By ey e L L B B
40— — i
B ] -0.004 _
35— — i
- - -0.006 —
30— — C ]
B 7 -0.008—
25— — r
— -0.01—
20 — ] —0012—
Clevvw b b b b b by b g by v 00 139 bl b b by b b by by g by e |
0 0.005 0.01 0.015 0.02 0.025 0.03 0.035 0.04 0.045 0 0.005 0.01 0.015 0.02 0.025 0.03 0.035 0.04 0.045
c c

140



140 ChiMatrix 20 19
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Results
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Results
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Results
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Results
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Results
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Results
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Results
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Results
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Results
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Results
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Results
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Results
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Results
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